Pensions and
retirement planning

R04 December 2015 edition
Web update 01: 29 January 2016

Please note the following update to your copy of the December 2015 edition of the R04: Pensions and retirement planning
study text:

Chapter 2.1, section B6, page 2/37

Please amend case study 2.2 to read:

Reconsider example 2.32, but this time assume that Jeanne makes the £70,000 contribution herself and her employer
does not contribute.

Explain, giving your reasons, whether the answer to example 2.32 would change.
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